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from scipy.stats import binom

import numpy as np

import matplotlib.pyplot as plt

from scipy import stats as S

N,p = 100,0.1

mu = 10

X = np.arange(0,N+1,1)

y_binomial = S.binom.pmf(x,N,p)

y_poisson = S.poisson.pnf (x,mu)

fig,ax = plt.subplots()

ax.plot(x,y_binomial,’-bo’,
label=’binomial distribution’);

ax.plot(x,y_poisson,’-ro’,
label=’poisson,distribution’);

legend = ax.legend(loc=’best’,

shadow=True,

fontsize=’x-large’)
legend.get_frame ().set_facecolor (’#00FFCC’)
plt.show ()
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1 |[from scipy.stats import binom
2 |import numpy as np
3 | import matplotlib.pyplot as plt
4 |from scipy import stats as S
5 (N,p = 10,0.1
6 |mu =1
7 |x = np.arange(0,N+1,1)
8 |y_binomial = S.binom.pmf(x,N,p)
9 |y_poisson = S.poisson.pnf(x,mu)
10
11 |fig = plt.figure (1)
12 |ax1l = plt.subplot(211)
13 |ax2 = plt.subplot (212)
14
15 |ax1l.plot(x,y_binomial,’-bo’,
16 label=’binomial, distribution$(10,0.1)$° X;
17 |ax1.plot(x,y_poisson,’-ro’,
18 label=’poisson distribution$\lambda,= 1% );
19
20 |legendl = axl.legend(loc=’best’,
21 shadow=True,
22 fontsize=’x-large’)
23 |legendl.get_frame () .set_facecolor (’#00FFCC’)
24
25 [N,p = 10,0.2
26 lmu = 2
27 |x = np.arange(0,N+1,1)
28 |y_binomial = S.binom.pmf(x,N,p)
29 |y_poisson = S.poisson.pnmf (x,mu)
30
31 |ax2.plot(x,y_binomial,’-bo’,
32 label=’binomial distribution$(10,0.2)$’ N;
33 |ax2.plot(x,y_poisson,’-ro’,
34 label=’poisson distribution$\lambda=2%$"X;
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36 |legend2 = ax2.legend(loc=’best’,

37 shadow=True,

38 fontsize=’x-large’)

39

40 |legend2.get_frame ().set_facecolor (’#00FFCC’)
41 |plt.show ()
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